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Binomial theorem : ( Xty )
"

x y
( Xty )° = 1

( xtyl
'

= xty #]#
( Xty )2= X2+2xy+y2 = ( ×+y)(×+y )

Y * £

A A
choose choose

Xory Xory

Oy 's ← F X x → ×2

( Xty )3=(x+y)(x+y)( xtg ) o X y → xy ) ⇒
x2t2xyty2

1 y ← ( I y x → yx

2 y 's ← L y y → y2

Q : How many y 's do you choose → dictates term
,

e. s ,

,
XY

'
Vs

' ×2Y
How

many ways to do so ? → dictates coefficient in front of term
.

# ways term
A :

-  -

0 y 's
1 X3

1 3 311y 3 =( ? ) x2y
2 Y 's }= ( z ) ×y2 ⇒ X3t3x2yt3xy2&y3

3 y 's
1 y3



( xty )4= ( xty ) ( xty ) ( xty ) ( xty )

How many y 's ?

# ways term
0 1 = ( ! ) x4

1 4 6 4 1

1
4 =

( Y ) x3y
2 6 = ( I ) xaya ⇒ X4t4x'yt6x2y2t4×y3+y4
3 4 = 143 ) xy }

4

1=14
) YY

mm(
xty )n= ( xty ) ( xty ) -

- - ( x+y ) ← n terms

# y
'

' #_ways term

T
( no ) x

" ( no )x" + I Y )xmy+( 2) xmy2+ . - + (1) y
"

1 1 Y ) xmy ⇒
2 ( 2 ) ×nhy2
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= ,§olHxniy'@
1 1

n Inn) yn



Applicant

( x+2y
- 2)

6
Q : What B the term that includes 58 ?

-
= ( xtayt ) ( x+2y→ ) - - 1×+252 )

⇒ to set yt
,

need to (4) x2 (2y -2)
"

expand by 252 4 + times

= ( k ) xh ( 2y
- 2)

4

= 6.5 #x
'

.Eyes
= 240 xhy

-
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( xty )4= ( xty ) ( x+yP I
=

(0×+0)
( x3+3x2y+3xy2ty3 )

,
(g)

= x4+3x3yt3x2y2txy3 1 3�3�1- ( ? )

+ x3y + 3×2y2t3xy3+ YY
13031⇒

- 4x3yt6x2y2t4xy3ty4 1 4
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(g) =lHtM
I not

' )=lfltlF , ) in in in

need expand expand

2y 's byx by yin
infmt first term

,

term ; need 1y

Choose 3 out of 8 people need in and

2y
'
I term

(5) = l 5) + II ) frmand
term



pascallstn.am# ( xty )
"
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j= # y 's L 1
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Applieahms ¢ Consequences
-

n

�1� what ,s (9)

+141+(21++14)=2
Consider St { aibcl

0 0 I = ( 8)
Pls ) I { a) { b) { c) 3 = ( ? ) ( 8) +1,3 )tl 's ) +131=23

2 { 9. b) { b. c) { 9,4 3 = ( 32 )
3

{ a. b. c) 1- = ( } )
8

÷ yM= ;§( g) xniys
'

11

an -ti+iln=§olFti÷I=,§d ;)
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initio"= gel ; 1. Ii . ,o

'
'

112 = 12 )

113 = 1331 = §o ( f ) . 10
'

'

114 = I 464 /

= (1) .io
"

+11 , ),io
"

!- ( no ).io

113=(1+1013--133) .

103
+ ( 3.) n' + til .io 'tl3oto°

= 1 .
103 t 3.102 + 3.  ' 0+1

= 1331
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